
Form No. P0544.07

Parts List

Meter, PD Series
C2-S1, S3, S5, S6, S7

Issue/Rev. 0.7 (4/01)	 Bulletin P0544.07

The Most Trusted Name In Measurement



	 Item		  Description	 Qty.	 C2-S1	 C2-S3, S5	 C2-S6, S7

Issue/Rev. 0.7 (4/01)	 P0544.07 • Page 5	

		  R	   S7 Only......................................................... 	 2	 ...............	 ...............	 641719-401
			     All Others...................................................... 	 2	 641007-402	 007900-400	 641719-401
	 44		  Pin, Groove, 1/16 x 1/2"................................... 	 1	 ...............	 006054-002	 006054-002
	 45		  Pin, Groove, 5/64 x 5/8"................................... 	 1	 009593-400	 009593-400	 009593-400
	 46		  Pin, Groove, 1/8 x 3/8"..................................... 	 2	 ...............	 006683-002	 ...............
	 47		  Pin, Input Coupling........................................... 	 1	 006053-002	 006317-002	 006053-002
	 48	 +@3	 Pinion Reversing:
			     Standard....................................................... 	 1	 071923-001	 514762-001	 514762-001
			     LPG............................................................... 	 1	 071923-001	 514836-001	 514836-001
	 49	 *	     Bushing, LPG Gears Only......................... 	 1	 ...............	 504653-001	 504653-001
	 50		      Pin............................................................. 	 2	 001126-001	 ...............	 ...............
	 51	 +	 Pinion, Jackshaft.............................................. 	 1	 071922-001	 514760-001	 514760-001
	 52		    Pin................................................................. 	 2	 001126-001	 ...............	 ...............
	 53		  Plate, Caution................................................... 	 1	 006571-001	 006571-001	 006571-001
	 54		  Plate, Cover...................................................... 	 1	 003440-001	 003440-001	 003440-001
	 55		  Plate, Lubrication.............................................. 	 1	 ...............	 517715-001	 515873-001
	 56	 +	 Plate, Thrust Bearing........................................ 	 2	 001111-001	 ...............	 ...............
	 57		  Plug, Pipe, 1/2" NPT:
			     Standard....................................................... 	 2	 006505-002	 006505-002	 006505-002
			     NACE............................................................ 	 2	 645242-402	 645242-402	 645242-402
	 58		  Plug, Pipe, 1/8" NPT:
			     Standard....................................................... 	 1	 006073-002	 ...............	 006073-002
			     NACE............................................................ 	 1	 645242-405	 ...............	 645242-405
	 59		  Plug, Temperature Well.................................... 	 1	 012025-001	 012025-001	 012025-001
	 60	 +	 Retainer and Balls:
			     Standard Meter............................................. 	 1	 070360-002	 ...............	 ...............
			     All Iron Meter................................................ 	 1	 070360-001	 ...............	 ...............
	 61		  Ring, Snap........................................................ 	 1	 512066-001	 512066-001	 512066-001
	 62		  Screw, Cap-Body:
			     3/8-16 x 1-1/4".............................................. 	 2	 002238-401	 ...............	 ............
			     3/8-16 x 1-3/4" ............................................. 	 2	 ...............	 ...............	 660248-409
			     NACE............................................................ 	 2	 645231-402	 645231-402	 645231-401
	 63		  Screw, Cap-Housing:
			     7/16-14 x 1-1/4"............................................ 	 16	 006348-002	 ...............	 ...............
			     7/16-14 x 1-3/4"............................................ 	 16	 ...............	 642052-404	 ...............
			     5/8-11 x 3" (S6)............................................. 	 18	 ...............	 ...............	 642061-408
			     3/4-10 x 3-3/4" (S7)....................................... 	 18	 ...............	 ...............	 641068-404
	 64		  Screw, Cap-Packing Gland:
			     5/16-18 x 1-1/4"............................................ 	 2	 ...............	 006511-002	 ...............
			     7/16-14 x 1-1/2"............................................ 	 4	 ...............	 ...............	 006410-002
	 65		  Screw, Drive:
			     #2 x 1/8"........................................................ 	 8	 009880-400	 ...............	 ...............
			     #2 x 1/8"........................................................ 	 12	 ...............	 009880-400	 009880-400
	 66		  Screw:
			     5/16-18 x 7/8", Drilled................................... 	 2	 009563-401	 009563-401	 ...............
			     5/16-18 x 1-3/8", Drilled................................ 	 2	 ...............	 ...............	 642019-414
	 67		  Screw, #6-32 x 5/16"........................................ 	 2	 006048-002	 006048-002	 006048-002
	 68		  Screw, #10-24 x 3/4", Drilled............................ 	 2	 006481-003	 006481-003	 006481-003
	 69		  Screw, #10-32 x 3/8"........................................ 	 2	 006045-002	 006045-002	 006045-002
	 70		  Screw, #10-32 x 1/2"........................................ 	 2	 006764-002	 ...............	 ...............
	 71		  Screw, #10-32 x 7/8"........................................ 	 2	 640835-001	 640835-001	 640835-001
	 72		  Screw, 5/16-18 x 5/8"....................................... 	 2	 ...............	 009813-400	 009813-400
	 73		  Screw, Set, #10-32 x 1/4"................................. 	 3	 ...............	 009469-400	 009469-400
	 74		  Screw, Temperature Well:
			     5/16-18 x 1".................................................. 	 2	 060133-002	 060133-002	 ...............
			     5/16-18 x 3/4"............................................... 	 4	 ...............	 ...............	 006409-002
	 75	 +	 Seal, Lead, and Wire........................................ 	 3	 001627-400	 001627-400	 001627-400
	 76		  Shaft Assembly, Link........................................ 	 1	 512845-001	 512845-001	 515866-001


